
/sd 
e'QmfgL 

ldlt
/sd 

e'QmfgL 

ldlt 

#/ 

;+Vof
hg;+Vof 

s_ k"jf{wf/ ljsf; sfo{qmd

1
jflNdsL pRr df=lj=df u]6 
tyf zf}rfno dd{t tyf ;+ef/  

1 )&#÷)&$ 100000

2 ghlhjg df=lj= df ejg dd{t 4 )&#÷)&$ 75000

3
zflGt lgs'~h df=lj= df dd{t 
;+ef/  

5 )&#÷)&$ 100000

4
lz/f]d0fL k|f=lj df tf/jf/ 
lgdf{0f 

11 )&#÷)&$ 50000

5
gj lbJo Hof]lt k|f=lj df ejg 
dd{t tyf ;+ef/ 

4 )&#÷)&$ 75000

6
ljBfnox?nfO{ afnd}qL 
agfpg ;xof]u sfo{qmd 

g=kf )&#÷)&$ 300000

v_ ;fdflhs÷Ifdtf ljsf;

7
afnjflnsfsf] nfuL /]l8of] 
pb\3f]if0f tflnd  

ab{3f6 
g=kf 

)&#÷)&$ 50000

8

Snj tyf j8f :tl/o ljljw 
cltl/Qm ls|ofsnfk ;+rfng ab{3f6 

g=kf 
)&#÷)&$ 75000

9

jfnjflnsfx?sf] nflu g]t[Tj 
ljsf; sfo{qmd tyf tflnd 
;+rfng 

ab{3f6 
g=kf 

)&#÷)&$ 150000

10
ljBfno egf{ cleofg 
sfo{qmd 

ab{3f6 
g=kf 

)&#÷)&$ 50000

      jfnjflnsf nlIft sfo{qmd 

pkef]Qmf 

;ldltsf] 

cWoIf 

g]kfn ;/sf/ 

;ª\3Lo dfldnf tyf :yfgLo ljsf; dGqfno 

ab{3f6 gu/kflnsf sfof{no, gjnk/f;L 
qm=;+

=
of]hgf÷sfo{qmdsf] gfd  

;+rfng 

:yfg 
cf=j=

n=O{ 

/sd

cg'bfg ? 

xhf/df 

hg;xef

lutf 

;Demf}tf 

ldlt 

k|yd ls:tf clGtd ls:tf 
clGtd 

d"Nof+sg 

nfefGjLt



u_ cfly{s÷zLk ljsf;

11
afn clwsf/ ;DaGwL 
cg'lzIf0f -# r/0fdf_

ab{3f6 
g=kf 

)&#÷)&$ 75000

12

jfnclwsf/ ;DalGw 
/]l8of]÷6]nLlehg pTkfbg tyf 
k|zf/0f 

ab{3f6 
g=kf 

)&#÷)&$ 50000

13
lgs[i6 afn>d pGd'ng 
;DaGwL sfo{qmd 

ab{3f6 
g=kf 

)&#÷)&$ 100000

14
afnd}qL :yfgLo zf;g 
;DalGw sfo{zfnf uf]li7 

ab{3f6 
g=kf 

)&#÷)&$ 50000

15
hGd btf{ cleofg tyf 
hfu/0f sfo{qmd 

ab{3f6 
g=kf 

)&#÷)&$ 150000

3_ ;F:yfut ljsf;

16
gu/:tl/o jfn ;+hfn 
kl/rfng 

ab{3f6 
g=kf 

)&#÷)&$
100000

17
b'Jo{;gL lj?4sf] sfo{qmd  ab{3f6 

g=kf 
)&#÷)&$

150000

18
dfs/ :jf:Yo rf}ls ejg 
lgdf{0f xf6jhf/ ab{3f6 $ )&#÷)&$ 82957

hDdf 1782957

/sd 
e'QmfgL 

ldlt
/sd 

e'QmfgL 

ldlt 

#/ 

;+Vof
hg;+Vof 

s_ k"jf{wf/ ljsf; sfo{qmd

1
yf?ufpF x'b} /f=df=lj hfg] af6f] 
u|fe]n 1 )&#÷)&$ 100000

2

cflbjf;L hghflt gu/ 

;dGjo kl/ifbsf] ejg 

lgdf{0f   

g=kf )&#÷)&$ 300000

qm=;+

=
of]hgf÷sfo{qmdsf] gfd  

;+rfng 

:yfg 
cf=j=

n=O{ 

/sd

cg'bfg ? 

xhf/df 

hg;xef

lutf 

hDdf 

/sd

k|yd ls:tf bf];|f] ls:tf 
clGtd 

d"Nof+sg 

nfefGjLt /sd 

a'em\g]sf] 

gfd 

cGo nlIft ;d"xM blnt, cflbjf;L hghflt, h]i& gful/s, ckf+u, dw]zL d'l:nd lk%*f ju{ / cGo lk%*f ju{ ljsf; sfo{qmd 

v_ ;fdflhs ;F:yfut÷Ifdtf ljsf; tyf zLk clej[l4 

cflbjf;L hghflt sfo{qmd ?= !),)),))).–



3
;'/lIft j}b]zLs /f]huf/ 
;DalGw tflnd sfo{qmd 

ab{#f^ 
g=kf )&#÷)&$ 200000

4
g]t[Tj ljsf; kqsfl/tf 
sDKo"6/ sfo{qmd 

ab{#f^ 
g=kf )&#÷)&$ 150000

5

;xsfo{df ;+rfng ul/g] 
cflbjf;L hghflt ljsf; 
sfo{qmd 

ab{#f^ 
g=kf )&#÷)&$ 250000

s_ k"jf{wf/ ljsf; sfo{qmd

1

ljkGg ;d'bfonfO{ vfg]kfgL 
kx'rsf]nflu Xof08kfO{k 
ljt/0f   

ab{#f^ 
g=kf )&#÷)&$ 350000

1
;xsfo{df ;+rfng ul/g] blnt 
pTyfg sfo{qmd 

ab{#f^ 
g=kf )&#÷)&$ 250000

2
k]zfut Ifdtf clej[l4 tyf 
k|ljlw x:tfGt/0f sfo{qmd 

ab{#f^ 
g=kf )&#÷)&$ 50000

3
blnt ;zlQms/0f sfo{qmd ab{#f^ 

g=kf )&#÷)&$ 100000

s_ k"jf{wf/ ljsf; sfo{qmd 

1 ejg lgdf{0f  
ab{#f^ 
g=kf )&#÷)&$ 200000

v_ ;fdflhs ;F:yfut÷Ifdtf ljsf; tyf zLk clej[l4 

1
;xsfo{df ;+rfng ul/g] 
ckfFu pTyfg sfo{qmd 

ab{#f^ 
g=kf )&#÷)&$ 200000

2

Joj;flos zLk ljsf; tflndf 
-crf/ d'9f, d}gjlQ cu/jlQ 
agfpg]_

ab{#f^ 
g=kf )&#÷)&$ 100000

h]i7 gful/s ?= @))))).–
s_ k"jf{wf/ ljsf; sfo{qmd 

1
cf]d zflGt ejg 
;+/If0fsf]nflu tf/jf/ 

ab{#f^ 
g=kf )&#÷)&$ 90000

v_ ;fdflhs ;F:yfut÷Ifdtf ljsf; tyf zLk clej[l4 

blnt ljsf; sfo{qmd ?= &%),))).–

ckf+u ljsf; sfo{qmd ?= %))))).–



1
lzjfno dlGb/df h]i7 
gful/s ;[hglzn sfo+{qmd 

ab{#f^ 
g=kf )&#÷)&$ 110000

s_ k"jf{wf/ ljsf; sfo{qmd 

1
db/;f ejg dd{t tyf ;'wf/ 
Pjd lgdf{0f 

ab{#f^ 
g=kf )&#÷)&$ 75000

1

lk58f ju{ pTyfgsf]nflu zLk 
ljsf; tyf Ifdtf clej[l4 
sfo{qmd 

ab{#f^ 
g=kf )&#÷)&$ 99435

2
d'l:nd lk58f ju{ ;F:yfut 
ljsf; sfo{qmd 

ab{#f^ 
g=kf )&#÷)&$ 50000

2674435hDdf /sd ? 

v_ ;fdflhs ;F:yfut÷Ifdtf ljsf; tyf zLk clej[l4

v_ ;fdflhs ;F:yfut÷Ifdtf ljsf; tyf zLk clej[l4 

dw]zL d'l:nd lk58f ju{ sfo{qmd ? @,@$,$#%.–


